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Van is counting by 2s.

2       4       6       10       12

Which number did Van miss?

Name: 

Daily Word Problem

A-46

answer: ____________________



answer: ____________________

Name: 

Daily Word Problem

A-47
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There are 3 boys.

Each boy has 2 shoes.

How many shoes do they have in 
all?

Show your work.



Name: 

Daily Word Problem

A-48
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answer: ____________________

There are 6 turtles in a pond.

4 more came to the pond.

How many turtles are there now?
Show your work.



Name: 

Daily Word Problem

A-49
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answer: ____________________

There are 20 cups on a table.

10 do not have water in them.

How many cups have water in 
them?

Show your work.



Name: 

Daily Word Problem

A-50
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answer: ____________________

Cal is counting by 5s.

5      10      15      ____      ____      ____

What will the 6th number be?

51015



51015
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Daily Word Problem

ANSWERSA-46 through A-50

answer: ____________________

Cal is counting by 5s.

5      10      15      ____      ____      ____

What will the 6th number be?

answer: ____________________

There are 20 cups on a table.

10 do not have water in them.

How many cups have water in 
them?

Show your work.

answer: ____________________

There are 6 turtles in a pond.

4 more came to the pond.

How many turtles are there now?
Show your work.

answer: ____________________

There are 3 boys.

Each boy has 2 shoes.

How many shoes do they have in 
all?

Show your work.

Van is counting by 2s.

2       4       6       10       12

Which number did Van miss?

answer: ____________________8 6 shoes 10 turtles

30

20 25 30

10 cups

2 + 2 + 2 = 6
6 + 4 = 10

20 -- 10 = 10


